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F(fy=2cost i +2sint j+3k, F(t)=-2sint i +2cost |

= JF()-F()d(1) =2t

M = nyzds = J‘xy2 -2dt = J‘OE (2cost)(2sint)*2dt

r . in*t 2 16
—16(2 (cosr)(sin? )dr = 16| 22 =—
[} (cost)(sin® 1)d {3 =3

M, = J.x-xyﬁds = Ixzyz 2dt = F(2cost)2(2sint)22dt

—32_[ (cos® 1)(sin” £)dt = 8{(51n2t)2dl 8J ( COS4t)dt
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nomlf] =7 7) = [ reorae= [ v \E
() [f(0d = [xd = P—} = %  [lgd = [ - {ﬂ - %

(f.8)= folf (x)g(x)dx = jol X'y {’ﬂ - %
(f_g’f_g> = _Ll[f(x)—g(x)]zdx

= [reae =2 g+ [gorde =3 -+ =

1
d(f;g):Hf—gH:\Kf—g,f—g)ﬂ/% (%] \/%

Pu.(—) EQx+3)=2E(x)+3=2%x2+3=7
Var(2x+3)=4Var(x)=4x4 =16

El@x+32|=Var@x+3)+ E[2x+3)f =16+49 =65

() E|3x+5)]=65

(=) Var(3x+5)=9ar(x)=9x4 =36
[]) Var(3x+5) =36




